
 N
ov
em

be
r

 



November 2024

RODRUNNER REF NO: TC-B-198 ADAPTABLE BMW

Lateral Arm

Weight: 1,662

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Rear Lower 33306871020

Length: 412,1

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS238
Lateral Arm

Bushing
Rear Lower 33306871020*

RODRUNNER REF NO: TC-B-198 ADAPTABLE BMW

Lateral Arm

Weight: 1,662

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Rear Lower 33306871020

Length: 412,1

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS238
Lateral Arm

Bushing
Rear Lower 33306871020*

www.rodrunnerparts.com 1



November 2024

RODRUNNER REF NO: TC-B-198 ADAPTABLE BMW

Lateral Arm

Weight: 1,662

iX3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G08 2020- Rear Lower 33306871020

Length: 412,1

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-BM-BS238
Lateral Arm

Bushing
Rear Lower 33306871020*

RODRUNNER REF NO: BC-BM-BS238 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,266

X3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G01/ F97/F98 2018- Rear Lower 33306871020*

Length: 65

TC-B-198 Lateral Arm Rear Lower 33306871020

www.rodrunnerparts.com 2



November 2024

RODRUNNER REF NO: BC-BM-BS238 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,266

X4

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G02/ F98 2018- Rear Lower 33306871020*

Length: 65

TC-B-198 Lateral Arm Rear Lower 33306871020

RODRUNNER REF NO: BC-BM-BS238 ADAPTABLE BMW

Lateral Arm Bushing

Weight: 0,266

iX3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

G08 2020- Rear Lower 33306871020*

Length: 65

TC-B-198 Lateral Arm Rear Lower 33306871020

www.rodrunnerparts.com 3



November 2024

RODRUNNER REF NO: TC-BU-298 ADAPTABLE BUICK

Lateral Arm

Weight: 2,69

RAINIER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2004-2007 Rear Lower RK660157, 15069840, 8150698400

Length: 502

USA Market

RODRUNNER REF NO: TC-BU-298 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 2,69

SSR

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2003-2006 Rear Lower RK660157, 15069840, 8150698400

Length: 502

USA Market

www.rodrunnerparts.com 4



November 2024

RODRUNNER REF NO: TC-BU-298 ADAPTABLE CHEVROLET

Lateral Arm

Weight: 2,69

TRAILBLAZER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

KC 2002-2009 Rear Lower RK660157, 15069840, 8150698400

Length: 502

USA Market

RODRUNNER REF NO: TC-BU-298 ADAPTABLE GMC

Lateral Arm

Weight: 2,69

ENVOY

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2nd Gen 2002-2009 Rear Lower RK660157, 15069840, 8150698400

Length: 502

USA Market

www.rodrunnerparts.com 5



November 2024

RODRUNNER REF NO: TC-BU-298 ADAPTABLE ISUZU

Lateral Arm

Weight: 2,69

ASCENDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2003-2008 Rear Lower RK660157, 15069840, 8150698400

Length: 502

USA Market

RODRUNNER REF NO: TC-BU-298 ADAPTABLE OLDSMOBILE

Lateral Arm

Weight: 2,69

BRAVADA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

3rd Gen 2002-2004 Rear Lower RK660157, 15069840, 8150698400

Length: 502

USA Market

www.rodrunnerparts.com 6



November 2024

RODRUNNER REF NO: TC-BU-298 ADAPTABLE SAAB

Lateral Arm

Weight: 2,69

9_7X

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2005-2009 Rear Lower RK660157, 15069840, 8150698400

Length: 502

USA Market

RODRUNNER REF NO: TR-FO-1081A ADAPTABLE FORD

Tie Rod End

Weight: 0,57

EXPLORER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

U152 2002-2005 Front Outer 5L2Z3A130AA

Length: 89,3 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

W/ Sport Package

www.rodrunnerparts.com 7



November 2024

RODRUNNER REF NO: TC-KI-828 ADAPTABLE KIA

Control Arm and Ball Joint

Weight: 0,744

SORENTO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

XM 2010-2014 Rear Upper
Forward

552502W000

Length: 195 Bolt Metric: M10X1,25

FWD

RODRUNNER REF NO: TC-KI-828 ADAPTABLE HYUNDAI

Control Arm and Ball Joint

Weight: 0,744

SANTA FE

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DM/NC 2013-2018 Rear Upper
Forward

552502W000

Length: 195 Bolt Metric: M10X1,25

FWD

www.rodrunnerparts.com 8



November 2024

RODRUNNER REF NO: TC-MA-1128 ADAPTABLE MAZDA

Control Arm and Ball Joint

Weight: 4,782

CX-30

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DM 2020- Front Right
Lower

DGH934300A

Length: 351,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MA-904 Ball Joint Front Lower
BDER34300A*, BDER34350A*,
DGH934300A*, DGH934350A*

RODRUNNER REF NO: TC-MA-1129 ADAPTABLE MAZDA

Control Arm and Ball Joint

Weight: 4,782

CX-30

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

DM 2020- Front Left
Lower

DGH934350A

Length: 351,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-MA-904 Ball Joint Front Lower
BDER34300A*, BDER34350A*,
DGH934300A*, DGH934350A*

www.rodrunnerparts.com 9



November 2024

RODRUNNER REF NO: LS-MG-106 ADAPTABLE MG

Stabilizer Bar Link

Weight: 0,374

ZS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2018- Front 10227851

Length: 300 Bolt Metric: M10X1,25

RODRUNNER REF NO: TR-MG-111 ADAPTABLE MG

Tie Rod End

Weight: 0,408

HS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2019- Front 10325998

Length: 101,7 Bolt Metric: M12X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 10



November 2024

RODRUNNER REF NO: AJ-MG-113 ADAPTABLE MG

Tie Rod

Weight: 0,73

HS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2019- Front 10178374

Length: 297,5 Bolt Metric: M16X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: TC-N-118 ADAPTABLE NISSAN

Control Arm and Ball Joint

Weight: 3,356

MURANO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z52 2014- Front Right
Lower

545005AA0C

Length: 393

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 911
Control Arm

Bushing
Front Outer 54501JN00B*, 54500JN00B*

www.rodrunnerparts.com 11



November 2024

RODRUNNER REF NO: TC-N-119 ADAPTABLE NISSAN

Control Arm and Ball Joint

Weight: 3,356

MURANO

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

Z52 2014- Front Left
Lower

545015AA0C

Length: 393

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-SB 911
Control Arm

Bushing
Front Outer 54501JN00B*, 54500JN00B*

RODRUNNER REF NO: TR-N-171 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,706

KICKS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

P15 2016- Front Right D85204AF1A

Length: 192 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

YEAR ONLY
2021-2023

www.rodrunnerparts.com 12



November 2024

RODRUNNER REF NO: TR-N-171 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,706

SENTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B17 2013-2018 Front Right D85204AF1A

Length: 192 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

YEAR ONLY
2021-2023

RODRUNNER REF NO: TR-N-171 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,706

VERSA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

N18 2020- Front Right D85204AF1A

Length: 192 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

YEAR ONLY
2021-2023

www.rodrunnerparts.com 13



November 2024

RODRUNNER REF NO: TR-N-172 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,706

KICKS

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

P15 2016- Front Left D86404AF1A

Length: 192 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

YEAR ONLY
2021-2023

RODRUNNER REF NO: TR-N-172 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,706

SENTRA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

B17 2013-2018 Front Left D86404AF1A

Length: 192 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

YEAR ONLY
2021-2023

www.rodrunnerparts.com 14



November 2024

RODRUNNER REF NO: TR-N-172 ADAPTABLE NISSAN

Tie Rod End

Weight: 0,706

VERSA

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

N18 2020- Front Left D86404AF1A

Length: 192 Bolt Metric: M10X1,25 Housing Metric: M14X1,5

YEAR ONLY
2021-2023

RODRUNNER REF NO: TC-PO-518 ADAPTABLE PORSCHE

Control Arm and Ball Joint

Weight: 1,534

911

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

991 2012-2019 Front Lower 99134105301, 99134105302

Length: 305 Bolt Metric: M12X1,5

www.rodrunnerparts.com 15



November 2024

RODRUNNER REF NO: TC-PO-518 ADAPTABLE PORSCHE

Control Arm and Ball Joint

Weight: 1,534

BOXSTER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

982 2016- Front Lower 99134105301, 99134105302

Length: 305 Bolt Metric: M12X1,5

RODRUNNER REF NO: TR-R-971 ADAPTABLE RENAULT

Tie Rod End

Weight: 0,854

MEGANE E-TECH

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Right 485203801R

Length: 217 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

www.rodrunnerparts.com 16



November 2024

RODRUNNER REF NO: TR-R-972 ADAPTABLE RENAULT

Tie Rod End

Weight: 0,854

MEGANE E-TECH

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front Left 486403241R

Length: 217 Bolt Metric: M12X1,25 Housing Metric: M14X1,5

RODRUNNER REF NO: AJ-R-983 ADAPTABLE RENAULT

Tie Rod

Weight: 0,472

MEGANE E-TECH

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2022- Front 485215536R

Length: 204,5 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 17



November 2024

RODRUNNER REF NO: AJ-R-973 ADAPTABLE RENAULT

Tie Rod

Weight: 0,48

AUSTRAL

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

RHN 2022- Front 485211061R

Length: 216,5 Bolt Metric: M14X1,5 Housing Metric: M14X1,5

RODRUNNER REF NO: TC-T-1638 ADAPTABLE TOYOTA

Control Arm and Ball Joint

Weight: 5,116

HIGHLANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UX70 2019- Front Right
Lower

480680E070*

Length: 387 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-T-1134 Ball Joint Front 4333009B60

www.rodrunnerparts.com 18



November 2024

RODRUNNER REF NO: TC-T-1638S ADAPTABLE TOYOTA

Control Arm

Weight: 4,264

HIGHLANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UX70 2019- Front Right
Lower

480680E070*

Length: 323,5

RODRUNNER REF NO: TC-T-1639 ADAPTABLE TOYOTA

Control Arm and Ball Joint

Weight: 5,116

HIGHLANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UX70 2019- Front Left
Lower

480690E070*

Length: 387 Bolt Metric: M14X1,5

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-T-1134 Ball Joint Front 4333009B60

www.rodrunnerparts.com 19



November 2024

RODRUNNER REF NO: TC-T-1639S ADAPTABLE TOYOTA

Control Arm

Weight: 4,264

HIGHLANDER

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

UX70 2019- Front Left
Lower

480690E070*

Length: 323,5

RODRUNNER REF NO: AJ-TS-113 ADAPTABLE TESLA

Tie Rod

Weight: 0,592

MODEL 3

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2017- Front 107080100E, 118883200B

Length: 251 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

www.rodrunnerparts.com 20



November 2024

RODRUNNER REF NO: AJ-TS-113 ADAPTABLE TESLA

Tie Rod

Weight: 0,592

MODEL Y

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

1st Gen 2020- Front 107080100E, 118883200B

Length: 251 Bolt Metric: M14X1,5 Housing Metric: M16X1,5

RODRUNNER REF NO: TC-TS-298 ADAPTABLE TESLA

Control Arm and Ball Joint

Weight: 2,512

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Right
Upper

142032600B

Length: 329

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-TS-114 Ball Joint Front Upper 142032600B*, 142032100C *

BC-TS-BS017
Control Arm

Bushing
Front Upper 102732700E

www.rodrunnerparts.com 21



November 2024

RODRUNNER REF NO: KT-TS-298K ADAPTABLE TESLA

Control Arm Kit

Weight: 2,66

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Right
Upper

142032600B*

Length: 329

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-TS-114 Ball Joint Front Upper 142032600B*, 142032100C *

BC-TS-BS017
Control Arm

Bushing
Front Upper 102732700E

RODRUNNER REF NO: TC-TS-299 ADAPTABLE TESLA

Control Arm and Ball Joint

Weight: 2,512

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Left
Upper

142032100C

Length: 329

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-TS-114 Ball Joint Front Upper 142032600B*, 142032100C *

BC-TS-BS017
Control Arm

Bushing
Front Upper 102732700E

www.rodrunnerparts.com 22



November 2024

RODRUNNER REF NO: KT-TS-299K ADAPTABLE TESLA

Control Arm Kit

Weight: 2,66

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Front Left
Upper

142032100C*

Length: 329

COMPONENTS NUMBER NAME DIRECTION OEM NO

BJ-TS-114 Ball Joint Front Upper 142032600B*, 142032100C *

BC-TS-BS017
Control Arm

Bushing
Front Upper 102732700E

RODRUNNER REF NO: TC-TS-308 ADAPTABLE TESLA

Lateral Arm

Weight: 1,334

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Rear Lower
Rearward

142045200D, 142045200E

Length: 350

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-TS-124
Lateral Arm

Bushing
Rear Lower
Rearward

142045200D*, 142045200E*

www.rodrunnerparts.com 23



November 2024

RODRUNNER REF NO: KT-TS-308K ADAPTABLE TESLA

Lateral Arm Kit

Weight: 1,652

MODEL S

MODEL NO BODY
CODE

YEAR DIRECTION
S

OEM NO

2021- Rear Lower
Rearward

142045200D, 142045200E

Length: 350

COMPONENTS NUMBER NAME DIRECTION OEM NO

BC-TS-124
Lateral Arm

Bushing
Rear Lower
Rearward

142045200D*, 142045200E*

www.rodrunnerparts.com 24


